Math 262 1 9 September 2020

WARM=- VP X0  wth probabild, 1
Y= 21 it probabilty % each
Z 21100 oith pralebldy 3 eal
Expected velues: E(X):E(¥)= E(2) =0
Vociaaces:  Vor (X)=0, Var(M)=1, Ver(2Z)= [0,000

WORKSHEE T+
1. Let ®be arandom variable with pmfgivenby 1 mnuv T, AY T NPT TR.

(a) What is the expected valueO ¢ ?

E,@Q = ¢(03) +S(02) + 2(0,3) +10(0.2) =4.¢
(b) WhatisO @ ?

E(X) = 43(0.2) * $%(0.2) +€7(0:3) ~ 157(0:2) = 44
(c) What is 6 A @ ? Hint: use the shortcut formula!

Var (%)= E(X)-E(X) = 49-6.4"= 5.4

(d) Suppose the random variable is part of a game in which you win v @ ¢ dollars.
Let® UL ® ¢.Whatis the pmf of &?

value |7_1’27’q2'52
prploo.L,;Hy‘ 0.3 l 0.2 { 0.3 \ 0.2

(e) Use the pmf of ®wto find ‘O & , your expected winnings in this game.
E(Y)=22 (o,:s) + 272(0.2) + qz(o&) + 52 (o.z) = 35

(f) Use the pmf of ®to find ‘O ¢ , and thenfind 6 A®.
ECrY) = 22 (03) « 27(02) + 123 (03) + 52(0.2) =136
Var (Y) = E(X7)- E(Y) = 1236

(g9) How is O @ related to O & ? Howis 6 A ® relatedto 6 A ?

E(Y)= SEX)+ 2 and U (Y) = 8 Ver (X)
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